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SSC-16 : Mathematics Content

Faculty Code : 004
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Time 15 Hours] [Total Marks : 70

yAendl=1) Y- Instructions to Candidates

9. yds MCQ GradlAL Ay WAL Gu udeef oiss| 1o The c_andidate will have to Wn'te_: his_ seat numbe_r/cen_tre of
sui 3/1{;&&“ e 207 ulen-l v Dol 26l 218 e.xamlnatlon and date of examination along with his/her
auial- 239 signature on the .ﬁI'St page of e.ach MCQ answer sheet.

2. udlanlA MCQ ua wslz-d uaust siuaisi g 8, [ 2+ The candidate is supplied with MCQ question paper,
~ ; . which he will have to complete in given fixed time and
% [ud and Haleld H&Q[ ;"LL[ olle vl (Al as MCQ will have to submit the MCQ Answer Sheet to the
Griradl Yurd sal-l 284 block supervisor.

3. a1l GaraAdlHL 5155 uRL M1 d."llg A4 289 "6 | 3. You should not write your name or number in any part
auidl Al (MEvs woul Ria) el idl-l 2o of your Answer Sheet (except specifid space) OR you
sodl 2 Adl 1S Mol sl 1.4l Shoclilld n;)t put any sign whereby you identity can be

; ; made out.

¥ d‘&'}t dl MCQ @ﬂ:{qél’ Ml v Blsdl udel 4. The MCQ Answer Sheet given to you should be submitted
uis Fdlas Y 3:{0{1 : N to block supervisor before leaving the examination block.

. C}L"{*R{l‘-l\}ﬂ, AR LAl 5 2l 1S uR A+l S 5. The exchange of writing material, tools of mathematics
el ol udlalel 18 20u-a sad] dvid 2ALs 8. and such similar things with other students is strictly

£. Ul AdS 2L gl 3o [HMe Yl 2 udlau-l prohibited.

Al Deell 20 (2 eHULA A SS u gl | 6. Up to 30 minutes after distribution of question papers
sl ol etz L Bt 2l Wil not be allowad 1o go outside the block under any

9. AdA .

() et et 520 AL i e AR AS[ 5 T
WL Yels AL 51 UGl USIRAL QWL 3 -laauell (a) Will bring any textbook or any type of writing or
sl siuel 3 g algel 2R, any strip of paper with notes or any other thing in
- udlal Ay 1 R ol udlaudl 8 did sl 3 the examination hall with you during the
A8 vz Lld iz e sl AqelR 20 2R, examination time. OR _ -
- ol AS Bl Adl AR s A RAR| - t{*;lliowgtfngtﬁ;z:‘g‘g‘ff ai‘;r“rfe:;‘:“(‘)‘fasg’nag
53Ul Ukt 5220 MORZ communication OR will do any type of mal practice
- udlayd guolie u s il auid dalA 2ud or will attempt for any mal practice. OR
AL A5 uRL @el 3 5171 Gradlxiug a8 el - Will carry your any written answer books or blank
Sudlaivianl 2 st Seidl 519 uald sl answer book with you while leaving the examination
dl Brana wst st agl ama udlausie Gsld hall aft_er_ com_ple?ion o_f examin_ation. OR Wi_ll do
Ysau] 1A A duiRl @Y A4 yHaRAA any activity Wﬁ‘nlmfm“’n of df’lllntg) s0- you :1“}1 be
st (18 53l Gl st . the oxamination the supervisor has the right o send
("{) % wdaul o 5y MdasHdl QLQ{"“"& Hler immediately the reportpto the University.
533 3 Ggd Al 21419y ad+ ulavizl elwad (b) The candidate who will disobey the instructions
2| [HYHLAL 62[2[‘15{3 9] 529 4 A W= given by chief or other supervisor OR will show
ot 2 e [Hdfla s d udlanmiel duesifas Gsldl ;ucllle or inappropriate be_llllav_iour idn_ tilel exgntl)inatiﬁn
1él usdl. . . candidate from the cxamination.
(3) (3"{3 BRUAL YR A %quadl ?Mz"ﬂ (¢) If any candidate does any of the above mentioned
sulddl A o A "{ﬂ&‘.ll?ﬂ. 1A dl d mal practices or as mentioned in the Ord. of
"{ﬂﬁ‘ll?ﬂ‘}l Yoy, (RAlas udlan viguigll stalr Hlsdl University, the chief supervisor will send the
ASA. candidate out of the examination hall.
(3) uanvizui DonSa 2RgA % AeR Fai w1l dlag (d) The chief supervisor will seize the instruments like
d Yoy Bidlens >0 2D o 590 959 moblle telephone or pager 1f you bring in th_e hall.
¢. AL wHY yal gai- 10 M2 UG Adasil b2 8. _10 ‘minutes befor_e th_e completion of examination an
RN - indicative bell will ring. You should stop writing at
q.[om QAR avald sy s3 il @ﬂzﬂéll»ﬂ izl that time you become ready to submit your answer
vigl (e s YURA 534l a1z el ol ﬁtﬂ Mdas books to your block supervisor. You should not leave
o] Gradlall A58l 53 & Al ijﬂ AR dHIEL your seat until the supervisor does not complete the
065 9 4l collection of all the answer books.
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AL 2 urd s4is 1 ol 30 1 oIl § i usd sHis 31 ¢l 50 2 dRIL 9.

1 “Ayad uel vz 8.7 d ge-udl Aena-n sedl ?

A o ® 3
© 7 O 1

2 &y vy vadl Rk ol ?
GV EENIE (B) Hwis
C) olgas D) w4

3 wad 10 wslas Ava-l qud s8 © 7

(A 5.5 B) 55
©) 27.5 D) 30

4 yapdolouddl @ Awdld sz g A ?

A) 27:r2 B) 3nr2

(C) 4 mtr 2 (D) nrz

5 AABCMl, LB L BC. % AB=9 d: BC =12 S dl 4C 4L

A) 16 B) 15
©) 18 D) 21
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6 adul agudl dens sedl © 7

r

A) @ ®B) nrz
2nr As)
© Tz D T30
7 x—2 94 dl (x6><x4)+(x2)4
A) 6 ®B) 2
©) 1 D) 4

8  (—x)'x(—x) +(-x) Bua Al
@ (-x) ®) (-x)

© 2 O (—x)

9 3. 700+ 5% avl 2 qus AL @y L.
A 35 @) 70
©) 350 D) 140

10 4+4x(3-1) Bud Al

A) 24 B) 16

€) 23 D) 20
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11

12

13

14

15

X wigHl ¢ 14 9. yHlswL @30 @vil.

A) 4x=14 B x-5=14
X
©) g=14 D) x+5=14

s AHel yeaR<dl ol 40 cm ©. d< u-dsa L.
(A) 64,000 cm?3 B) 6,400 cm?

(C) 640 cm? D) 64 cm?

g doEdyd udsn sed A !
A) [3 B) Ixbxh

© 31 D) I+b+h

21k Unul 3edl sl g wdg © 7
A 4 B) 3
©) s D) 7

glHe A UL sHI HRUA 7
A  ssu-l onsasl-u
B) w84 A s

©) sMs 3 2usls wEl Wz

D) @), B), © au
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16 2-[(-2)+2]-2g AE 3u 2w,

A 2 ® 4
© o D) -2

17 As+l %edl UsR © 7
(A) RS B) 6

©) == D) AR

18 &4l USIR-L vidil 65 85 2y suudl el ?
(A) @ad g
B) Aug g
(C) aidl Yed g

D) Gu-l s Ll &l

19 AN s 514 20 BMedl Y3 s3 8. dl d-l sl e 3edl 2y ?

A 20 s/MF2 B) — sM/sas

(C) 20 s1%/sels D) — s/MfHe

20 36x7+60xHl 4 GRIH dl A yelao] veiadl oy ?
@A) 10 ®) 15
©) 25 D) 50
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N

21 x2+6x+m_

yelad| yeladl €l dl m<ll Bya ).

2
A 9 B) 18
© 19 D) 20
2 A ——-2 dud v 4.
A 2 ®) (-2)
€ 3 D) 6

28 A @’ —m+004=(a-02)" dl m Dl

(A) 04a @) 0.4

(C) 049a D) 4

24 80x* —40x% + 5+ ¥aud wid.

@A) 5(2x-1)(2x+1) B) 5(2x—1)*(2x+1)

©) 5(2x—2)(2x+1) O 5(2x-1)*(2x+1)°

25 8x—4=3(x+1)-7 5w G,

A) 10 @) o
© 2 D) -5
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26 Custome Animation [Rsed ue 5dl 89 uBUL 53 s © 7
(A Add (B) Remove

(C) Change D) 2d duH

27 N A Wl Wese 4l 8 ?
(A) Alt + Fy B) Alt + F,

©) Ctl + F, ©) F,

28 o ABCD AMEAAPERLO. BHL 4B(|CD B. A msA4=140 S AL /D
2lLHL.

(A) 40° B) 60°

© 70° D) 90°

29  AMIdROUY AR o 4pCp UL AB=10 i1 AD=18 &4 d\, 1" 45cp -l
ulRPf el

A) 36 B) 20

C) 28 D) 56
30 A log25=1.3979 dl log 2500+ 3ei 2t

(A 1.3979 B) 2.3979

(C) 3.3979 D) 4.3979
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31 7 cm Bl o0ouy 4-se Al
(A) 500 cm? B) 70 cm?

(C) 616 cm? D) 49 cm?

32 6 Av2il-l AAN 108 8. d-l RldR 5:7 ©. dl a Avdl ).
(A) 41, 67 B) 45, 23

(C) 45, 63 D) 48, 60

33 umdel AQE8L ABCDYL AB || DC, AB>DC €8l Zp ¥ Cp~U 12ilig

Vs p ¥ O B, W 4B=15, DC=7 &4 dl PO Al

A 22 B) 17

© 1n D) 32

34  AMIdR oLy AR AAsN Hi2<] Yo
l ~ N
A) > UL X WAL YR+l Ay

1

® 7 x 6L MR o+l AW

(C) MRlxd WML 4R+ a8

D) uElxay

DFF-004-001218 D ] 8 [ Contd...



35 % MRS YA p VAASAAL AAGN AU 8 2 40 &Y dl p ).

@ s ® 3

©) 40 D) 320

36 A y—-3, dl x15+(x17+x6)v{1 By skl

(A) 18 B) 81

© 9 D) -3

37 3. 6000+ 9% avl 2 qus AL @y Al

(A) 1200 B) 5400
(C) 1080 D) 1800
E_E—S 15201 Gd)

38 -0 =5 wlse Gl
o 3 s
A) 2 ®B) 2
© 10 ®O) -
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39 o s[Hs AUl WAL 43 9. d Al ).
A) 21,22 B) 35,8

(C) 20,23 D) 30,13

40 3. 8000+ 5% avl 2 qui+ Asqls @y L.
(A) 160 B) 280

(C) 800 D) 820

41 @ +4b> +9—4ab-12b+6a : wayd W,

@) (a+2b+3)° ®) (a-3b+3)°

©) (ct—2b+3)2 ®) (ct—2b—3)2

42 R gib=3 WY gh=2 4, A o +5 -0 Bxa Aadl.

A) 10 B) 12

© 9 D) 99
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43 AABCA\ Zp ¥ BE 44 8. % 4p=g A4, pc =9 Al »+ BE=38
Al €1 dl g .

A 9 ®) 8

© 72 D) 7

44 s oLl 8Asn 4851 cmB ©. d-ll Al M.
(A 10.5 ®B) 21

©) 25 D) 20.5

. N 2 2 2
45 [(Hd qaqdl : 210g§+310g§—410g§

@ o ®) logs
1 5 lo 2
© los 25 ®) g25

46 8,18,16,32,14,20 Wkils udl ey Q).
A 20 B) 38

€) 17 D) 24
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47  AUsIRL GRS 2 ™ 6 10 8. A0UsIR A RNl asuudl-lL assa
AL 81U dl, dloudl Pl M.

A) 4 B

© 6 D) 8

48 % B8Rl eyl WY 9 cm, 40 cm A 41 cm €14, dl d Bisield asisa
Q4.

(A) 180 B) 50

(C) 40 D) 82

49 " gpcp ABU APER O. B m BAC =60, MU msDAC =40 €,

A msBCD AL
(A) 40 (B) 80

©) 160 D) 60

50 O(P,6)d 4 U B. B AB=6 €, dl m 4PB WHL.

A) 30° B) 60°

©) 120° D) 90°
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ENGLISH VERSION

Instruction : Q. No. 1 to 30 carries 1 mark each and Q. No. 31 to 50 carries
2 marks each.

1 Water of the sea is salty. What is probability of this event ?

1

(A) 0 ® 5
1

© 7 ©) 1

2 Which is not a measure of central tendency ?
(A) Range (B) Mean
(C) Mode (D) Median

3 What is the mean of first 10 natural numbers ?
(A) 5.5 (B) 55
(C) 275 (D) 30

4 What is total surface area of a solid Hemisphere ?
(A) 27:r2 (B) 3nr2
©) 471:}"2 D) Ttl”z
5 In AABC 4B | BC.- If AB=9 and B(C =12, then find AC.

(A) 16 B) 15
(C) 18 (D) 21
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6 What is length of minor arc ?

o X Dy X0
© 180 ©) 180

6 4 2\*
7 If x=2, then find value of (x X X )+(x )

(A) © B) 2

© 1 (D) 4

8  Find value : (—x)4><(—x)3+(—x)5
@ () B) ()’
© 2 @) (-x)
9 Find simple interest on Rs. 700, at 5% for 2 year

(A) 35 (B) 70

(C) 350 (D) 140

10  Find value : 4+4x(3-1)

(A) 24 B) 16

<€ 23 D) 20
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11

12

13

14

15

The fifth part of x is 14. Write mathematical expression.

(A) 4x=14 B) x-5=14
X
© Z=14 (D) x+5=14

The length of a cubical stone is 40 cm. Find volume
(A) 64,000 cm? (B) 6,400 cm?

(C) 640 cm? (D) 64 cm?

What is volume of cuboid ?
(A) 13 B) Ixbxh

© 31 D) I+b+h

How many groups of tasks is in task pane ?
(A) 4 ®) 3

() D) 7

Which commands contains in format menu ?
(A) Arrangement of paragraphs

(B) Style and formating

(C) Bullets and numbering

(D) All of (A), (B), (O)
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16 What is simplification of 2—[(—2)+2}—2 ?

(A) 2 B) 4

© 0 D) 2

17 How many are the types of cheque ?
(A) one (B) two

(C) three (D) four

18 In which account bank does not pay any interest ?
(A) savings (B) current

(C) fixed deposit (D) none of above

19 Nimesh has done a work in 20 minuts. What is ratio of his work ?

1
(A) 20 work/minute (B) >0 work/hour
1 .
(C) 20 work/hour (D) % work/minute

20 What adding to 36x% +60x makes a perfect square ?
(A) 10 (B) 15

(C) 25 (D) 50
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21 I e
(A) 9 B) 18
(C) 19 D) 20
2
22 If =—, then find x.
2x+1 x
(A 2 B) (-2)
<€ 3 D) 6
23 If a" -m+0.04=(a—02)*, find m.
(A) 0.4a B) 0.4
(C) 0.49a D) 4
24 Factori 4 2
actorize 80x —40x" +5
(A) 5(2x-1)(2x+1)
B) 5(2x-1)*(2x+1)
©)  5(2x—2)(2x+1)’
D) 5(2x-1)*(2x+1)°
25 8x-4=3(x+1)-7 find solution
(A) 10 B) 0
<€ 2 D) -5
DFF-004-001218 D ] 17
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26  Which function/s regarding Animation can be done by selecting the custom
Animation option ?
(A) Add (B) Remove
(C) Change (D) All of above
27  Which short cut key is used for slide show ?
(A) Alt + F; (B) Alt + F,
(C) Cul + F, (D) F;
28 o0 ABCD 1is a trapezium in which EH@. If ms4A=140, find m/D.
A 40° B) o60°
©) 70° D) 90°
29 1In o” ABCD, AB=10 and AD=18 then find perimeter of 0" ABCD .
(A) 36 (B) 20
(C) 28 (D) 56
30 Since log25=1.3979, then find value of log 2500
(A) 13979 (B) 23979
(C) 3.3979 (D) 43979
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31 Find the surface area of a sphere with radius 7 cm.
(A) 500 cm? (B) 70 cm?

(C) 616 cm? (D) 49 cm?

32 The sum of two numbers is 108 and their ratio is 5:7. Find the numbers.
(A) 41, 67 (B) 45, 23

(C) 45, 63 (D) 48, 60

33 In trapezium ABCD 4B| DC, AB>CD, and P and Q are the midpoints

of AD and BC respectively. If AB=15 and DC =7 then find PQ.
(A) 22 B) 17

(C) 11 (D) 32

34 What is formula to find area of parallelograme ?

1
(A) 7 x base x altitude on base

(B) 7 xsum of two parallel lines

(C) Dbaseyaltitude on base
(D) basealtitude
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35 If mean and sum of »n observations 8 and 40, respectively then find n.
() 3 ®) <

(C) 40 (D) 320

15 17 6
36 If x=_3, then find value x +(x +X ), of

(A) 18 (B) 81

© 9 (D) -3
37 Find the simple interest on Rs. 6000 at 9% for 2 years.

(A) 1200 (B) 5400

(C) 1080 (D) 1800

15

38 Sol ion : ——~=5
olve equation : —==7
s s
* 2 ®)
5
© 10 o >
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39 The sum of two consecutive numbers is 43. Find theose numbers
(A) 21,22 (B) 358

(C) 20,23 (D) 30,13

40 Find the compound interest on Rs. 8000 at 5% of 2 years
(A) 160 (B) 280

(C) 800 (D) 820

41 TFactorize - a° +4b% +9—4ab—12b+6a

(A (a+20+3) B) (a-3b+3)

(©) (a-2b+3) D) (a-2b-3)

42 If g+p=3 and gh=2 then obtain the value of .3 p3.

(A) 10 B) 12

<€ 9 D) 99
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43

44

45

46

4p and pp are altitude of AABC. If 4D=8 cm, BC =9 cm and

BE =8 cm, then find (4.

A) 9 B) 8

) 72 D) 7

Volume of a sphere is 4851 cm3. Find its diameter.

(A) 10.5 (B) 21

C) 25 (D) 20.5

Find the value 210g%+310g§—410g§

(A) 0 (B) log%
10 i 10 i
© o853 D) o873

Score is 8,18,16,32,14,20; find median.

(A) 20 (B) 38

C) 17 (D) 24
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47 Height and diameter of a cylinder are both 10 cm. If the curved surface

area of cylinder and sphere is equal. Then find radius of sphere.

(A) 4 B) 5

€ o D) 8

48 Find the area of a triangle if its sides measure 9 cm, 40 cm and 41 cm.

(A) 130 B) 50

(C) 40 D) 82

49 0 ABCD is a cyclic quadrilateral. If pBAC =60, m/DAC =40, then

find m/BCD.
(A) 40° (B) 80°
(C) 160° (D) 60°

50 g is a chord of O(P,6). Find m./APB

(A) 30° (B) 60°

(C) 120° (D) 90°
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